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1. Marine Protected Area, MPA '
2. United Nations Convention on the Law of the Sea, UNCLOS

3. Integrated Coastal Zone Management, ICZM

4. Exclusive Economic Zone, EEZ
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1. Find the general solution of the system

21 — 229 — x3 + 34 = 0
—2% 1+ 4332 + 5.’173 - 5334 = 3
3xy — 6zy — 6z3 + 8zy = 2

2. Describe all solutions of Ax = b, where
3 5 -4 7
A=|-3 -2 4 and b= |-1
6 1 -8 —

1 =2 -1
3. Find the inverse of the matrix A = [——l 5 6 } , if it exdists.
|5 —4 5

4. Determine the rank of the matrix

2 5 -3 —4 8
407 -4 =3 9
A_69~524
0 -9 6 &5 -6
5 =7 2 2
0 3 0 -4
5. Compute 5 -8 0 3
0 5 0 -6

2 1 3
6. Find the inverse of the matrix A = l:l -1 1 } .

7. If x is an eigenvector of A corresponding to A, what is A3x?

8. Diagonalize the following matrix, if possible.

5 0 0 0
0 5 0 0
A=17 4 -3 0

-1 -2 0 -3
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9. Find a least-squares solution of the inconsistent system Ax = b for

4 0] 2
A=10 2|, b=]o0
1 1) 11

[6 -2 -1
10. If possible, diagonalize the matrix A= |-2 6 —1].




